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A comprises of 8 multiple chowe "queggens of 1 mark cach Section-B comprises of 6
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a8 b) 4 @ 1 @ 2
The decimal expansion of 2 will terminate after how many places of decimals ?
120

@ 3 b) 4 © 1 (@ 2

@ gt y=0 3y = S( (8 .
(a)

(b) C

() mﬁfqa €9 R 3F A

(d)  @HEA TR ¢
The pair of equations y=0and y = —

(a) One solution

(b) Two solutions A
(c) Infinitely many solutions
(d)  No sohution c

@ ﬂfﬂax+by:—a -b Eam hnvay-‘otlituA'
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(a) & (b) b-a /ldl

5 AABC & #8=90° 380 L AC 1 v&m-smdhm-myiwmt:

(@ 2V2em )  3Vzem
€ 2rem d 3IVrem
In A ABC, ZB =90° and BD L AC. if AC =9 cm and AD = 3 cm then BD is equal to :
(@) 2Yzem B  3S2cm
(€ 2J3em \(_d)/- 37 om
6 1 cosec’® - sec’ U‘!ﬁt:
M e © Tt 4 coseci® * sec’?
1
A - (B) X
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% 1 1
© | (D) —
Given that tan® = 1 then the value of Cose(:' e ,¢c2. is -
ﬁ chise™ ¥ * sec’?

(A -1 !

) ® =
© = o -k

< 2

TfZ sech + tand + 1 =0 &, T secd — tand FEHAR: 1
(@) -3 ® 1 © O d 2

If sec + tanf +1 =0 th —tand is :
@ -1 (bm © 0 @ 2

qﬁ@,—'ammas'mvé\f m%‘&wmmﬁg(ws.ls.sy%a‘tﬁm{fm 1
maE ¢

(A) 360 (B) © 155 (D) 55
Iftl'le‘lessthm’typeogivemd‘( ' type ogive intersect each other at (20.5, 13.5). then
the median of the given datais:

(A) 360 @ 25 Q@ 155 D) 55

wog- W /SECTION - B

mmsﬁumvmsmzmﬁmt)
Quesﬁonnumbtﬂﬂounnyzmmo

2555ﬂmtmqmﬂtqmtni¢\. 3
Express 2658 as a product of its prime factors /

mmﬁ :’-uuﬁtwm!ﬁﬂ‘lu S(

Fh\dﬂ'lezeroesofthequldnﬁcpolyrmw NOERT TRR e

*J

mmmmmm—wdmm:

x+2y=14, x—4y+7=0
Solve the following pair of linear equations by substitution method :
3x+2y=14, x—-4y+7=0
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T ABCD #,/B=90° ¥ afz AD2= AB2 4 B2+ CD2 ¥ i fug #foe fF ~ACD = «0#1
In a quadrilateral ABCD, /B =90°. HA02=ABZ+BCZ+C02; prove that ZACD = &F

* 20 (1 - sin®) (1t (]
fﬂzaﬂﬁmfm (1 tan . (1 :m ) (1 sin¥) . cosze
(]
sec

(1 + tan?® (1~ sin®) (1 * sin?) .
d = cos" 0

Prove that:

2
sec’ 0

~

TSl B WA FIq DA :

Question numbers 15 to 24 carry 3 marks eac

mﬁww%umuﬁwmsdmwh ﬁ
h.
/

ﬁzzﬁmm;'—zﬁwmm" 9(

Prove that 7—2+/3 is an irrational number.

= 3
zgw:zz’+u’+5x+7a’lw1§wzg(x)ﬁumﬁmmmmm: 2y 7 7 - 51 5A

’ -
¢ Z(:)m the polynomial 20 +4x2 +51+7 by a polynomial g(x), the quotient and the
On dividing

omainder were 2x and 7 - 5x respectively. Find g(x)-

Downloaded from www.jsuniltutorial .weebly.com/



19

20

21

22

page 50of 9

JSUNIL TUTORIAL

a%ﬁmW%mmﬂmﬂmu+3y=a—3mlh+ay=aﬂ@@Wqﬁ%‘

For what value of a, the pair of linear equations :
ax +3y=a—3; 12x + ay = a has no solution.

HAerErg w9 | TRy 6 afEwm-fea
Ix+2y=7;

6x + 4y =5 1 B3 & T ¢

Show graphically that system of equations
3 +2y=7;

6x + 4y =5 has no solution.

AABC~APQRand ar (AABC)=42 (A ). 1§ BC =12 cm find QR.

AABC~APQR 3 ar(AABC) =4 ar“ﬁl Az BC =12 cm B, A QR T HIfS

3
PS . PT gir /pST=/PRQR!
APQR #, yn3it PQ 3 PR W #7W: Twmtﬁsso =
F«zm’lﬁqfsmawmﬁ?h . e
' — = — an
In a APQR, S and T are points on ! PR respectively such that s T%

ZPST = ZPRQ. Prove that PQR is an isosc j
by :
) g ) f v/ N
aexmbsecody=awnlof @ (2] () @mm

A

?

) O (y
fx=b sec 8 and y =2 tan ‘-“"‘""md[;] [:]O

P

fm § o AE=14 R0, AC=1300, BC=5am ¢ @ m ;m wfag |

E
¥
9
14 cmDP- C
\3&\ 5cm
L4
— B |
Inﬁgur:i.fAEl4mA§=l3mK=5mﬂmﬁrdthenhxedmﬂ
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23 e @24 1 9T I FAC : 3
1 20-30 30 - 40 40 -50 50 - 60 60 - 70
E LG || 25 42 33 10

Find the Mean of the followi istribution
Class 20-30 -40 40-50 50 - 60 60 -70
Frequency |25 42 33 10

u 2 ‘S /

24 A A #omE FAFA - 3
3% 0-30 | 30-40 |46 20-80 |80-90
ferenfefai 1 e | 5 15 8 10
Find the median of the following data -

Marks 20-30 [YW-40 | 70-80 | 80-90
Number of 5 15 8 10
students e

m—u/sec'm@/-p
YR W 25 | 34 T WA uvA 4 3w wk ;(

Question numbers 25 to 34 carry 4 marks each.

25 m,mwma@wmmtmmtmmmmm. wEEF [ 4
FQ A T€ FH: 10, 16 T 20 firre R &1 AR A A & 9w e e, @ R T ¥ IR fw
uF F1¢ B §HP YE A [ 7= 3 fa gl 1 weeiE s ?

Amita, Suneha and Raghav start preparing cards for all the persons of an old age home. In
order to complete one card, they take 10, 16 and 20 minutes respectively. If all of them started
mgeﬁwr.afherwlulﬁnuwin&wymnpmpumganewcardwgtdm? Which values do

page 6 of 9
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these children reflect.

FEIR fix) =14x4 - 3722 + 2622 — 17x + 29 & Fa1 G Y o TW VR WQ FER g(x) =212~ 5r +3 F 4
ot favifra @12

What must be added to the polynomial f{x) = 14x¢—37x° + 26x2—17x + 29, so that the resulting
polynomial is divisible by g(x)=2x2—5x+3 ?

ﬁqwﬂmvifwméﬂ‘aq:

2r-y=1;x+2y=13
mﬂmﬂmaﬁmﬁmmma&mmﬁt@rsﬁmyﬂa%aﬁﬁﬁmﬁm
Fiferg L

Draw the graphs of follomng equations :
&-y=1;x+2y=13

Find the solution of the ecpu&ons from the graph and shade the triangular region formed by
the lines and the y-axis. <

W ABC @& finfw ¢ faead w-;__'xb"iu fg D 7w E y@ vwn feum € f AD=BE }1 afz DP|BC 4
T EQ|IAC &, @ fag #ifar fis PQyjAB Y

Let ABC be a triangle and D and E b#'twd points on side AB such that AD = BE. If DP|[BC and
EQ||AC, then prove that PQ||AB.

WMABC!)%MWM()' fwiwll!NA BCspaMd & fag sifvufe 4
OB’ +0D*= OC*+ oA’ b

A point O in the interior of a ncungchmhﬁmdmmmhdhvemmA B,Cand D
Prove that OB’ + OD" = OC’ + OA’

A freifeg : 4
- 1an® cot(90° = ) * gec® cosec(90° = 0) * sin’35” + siniss’
cot10® cot20° cot45® cot70” cot80’

- = tan® cott90° = ) + gec® cosect90’ - §) + u’n235' + sin?ss®
\'s H

cot10° cot20° cotd5’ cot70° cots0”’

frs ¥ ADLBC &1 S cosx — 17siny + tanx 1 9F TR FFIY | 4
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3}/"‘ the figure, ADLBC. Find the value of Scosx — 17siny + tanx.

S
z

%C’ X sin® - ﬁmdm&mm%mmml !

If sin® = ﬁmﬂd’ﬂ.fh\dﬂ\rvdua Wune.
33 gk fm adamam &3 wman ﬂ_N:lw%waiz b A gw T f & R
T TR TS g,u'_‘_J;q/;f.a‘“?_a‘ﬁn

M
A& | 10 h 25 ;uﬂ_ B
Find the missing frequencies fi and f; in the following lreg

Y 100
it Exdtion a4 = 100 asid e

32 o

Class : 0-10 [10-20 [20-30 [W-40 |40-50 |50-60 | Total

Frequency: [ 10 h 25 W f 10 100 o
” The following table give production yield per hectare of wheat of 100 farms of a village. 11
- rﬁoducﬁonyield 50-55[55-60 |60-65[65-70 [70-75 |75-80

[ (in kg/ha)

Number of farms | 2 8 12 24 38 16
Change the distribution to a more than type distribution and draw its ogive. Using ogve, find
the median of the given data.
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